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Section : English Language

Q.1 Select the most appropriate meaning of the given idiom.

Head in the clouds

Ans 1. Being extremely tall

2. Being absent minded
3. Being extremely happy

4. Being extremely sad

Question ID : 264330150779
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate synonym of the bracketed word in the following sentence
to fill in the blank.

| (itemise) the work that will have to be done.
Ans 1. impart
2. enumerate
3. conceal

4. assess

Question ID : 264330142654
Status : Not Answered
Chosen Option : --

Q.3 Parts of asentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
A. have seen a major blow
B. the last two years
C. people and lower-income countries
D. to the world’s economy and
E. were hit particularly hard

Ans 1. BCADE
2. EBCAD
3. BADCE
4. ADBEC

Question ID : 264330149920
Status : Answered
Chosen Option : 3




Q.4 Select the most appropriate ANTONYM of the given word.
Extract

Ans 1. Insert
2. Fry
3. Cut
4. Pull

Question ID : 264330141297
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate option that can substitute the underlined segment in the
following sentence.

Although he was exhausted from working all day, John continues to study for his
upcoming exam.

Ans 1. will continue to study for his upcoming exam

2. has been studying for his upcoming exam
3. continued to study for his upcoming exam

4. continues studying for his upcoming exam

Question ID : 264330148908
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate synonym of the given word.
Assuagement
Ans 1. Consignment
2. Stratification
3. Ruthlessness

4. Mollification

Question ID : 264330143976
Status : Not Answered
Chosen Option : --

Q.7 Select the most appropriate ANTONYM of the underlined word in the given sentence.
One needs to be free of prejudices while dealing with judicial cases.

Ans 1. Favours
2. Discriminations
3. Bigotries

4. Equalities

Question ID : 264330143224
Status : Answered
Chosen Option : 4




Q.8 Select the meaningful and correctly spelt word from the options to fill in the blank.

The song composed by the choir for the special programme was an one.
Ans 1. imiteitted
2. emittated
3. eradicated

4. imitated

Question ID : 264330148937
Status : Answered
Chosen Option : 4

Q.9 Select the INCORRECTLY spelt word.
Ans 1. Philosophy

2. Philanthropy
3. Philolegy
4. Philately

Question ID : 264330143995
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate synonym of the underlined word.
Access to safe water, sanitation and hygiene is a human right—fundamental to
everyone’s health, dignity and prosperity.

Ans 1. enthusiasm
2. immorality
3. grace

4., wealth

Question ID : 264330143649
Status : Answered
Chosen Option : 3

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Were this boy / washing his clothes / yesterday when the matron / came for a regular
round?

Ans 1. washing his clothes
2. yesterday when the matron
3. Were this boy

4. came for a regular round

Question ID : 264330149472
Status : Answered
Chosen Option : 3




Q.12 Select the most appropriate option that can substitute the underlined words in the
following sentence.

My parents had not call me yesterday.
Ans 1. does not calling
2. did not call
3. do not call

4. have not call

Question ID : 264330142620
Status : Answered
Chosen Option : 2

Q.13 Select the grammatically correct version of the following sentence.

This phone is inferior of that one.
Ans 1. This phone is inferior than that one.

2. This phone is more inferior than that one.
3. This phone is more inferior of that one.

4. This phone is inferior to that one.

Question ID : 264330144330
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate option that can substitute the underlined word in the
given sentence.

One cannot exactly predict the way she behaves in public gatherings.

Ans 1. deliberate
2. precipitate
3. prefigure

4. proliferate

Question ID : 264330143978
Status : Answered
Chosen Option : 3

Q.15 Select the word which means the same as the group of words underlined in the given
sentence.
Vatsal is a lover and collector of books.

Ans 1. anglophile
2. recluse
3. bibliophile

4. polyglot

Question ID : 264330144275
Status : Answered
Chosen Option : 3




Q.16 Select the most appropriate idiom for the underlined segment in the following
sentence.

We should protect ourselves from jealous people.
Ans 1. High-spirited

2. Any Tom, Dick or Harry

3. One trick pony

4. Green-eyed

Question ID : 264330149552
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
The most important fruit in Kinnaur is apricot. It is possible to get it at everyplace in

huge amount.
Ans 1. found for a huge amount everywhere

2. found everywhere in a huge amount
3. found everywhere with a huge amount

4. find everywhere in a huge amount

Question ID : 264330149858
Status : Answered
Chosen Option : 2

Q.18 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A) fourth floor of

B) nasty man named Mr. Douglas
C) an apartment building

D) there is a very mean,

E) who lives on the

Ans 1.D,B,E,AC
2.B,C,A,D,E
3.E,A/D,B,C
4.C,B,A/E,D

Question ID : 264330143920
Status : Answered
Chosen Option : 1

Q.19 Select the option that expresses the following sentence in passive voice.
Does she still love you?
Ans 1. Are you still loved by her?
2. Do you still love her?
3. Is she still loved by you?

4. Are you still loving by her?

Question ID : 264330142601
Status : Answered
Chosen Option : 1




Q.20

Ans

Select the option that expresses the given sentence in passive voice.

Itis time to take tea.
1. It is time for the tea to be taken.

2. It is time tea must have been taken.
3. Itis time we should take the tea.

4. It is time the tea has to be taken by us.

Question ID : 264330141350
Status : Answered
Chosen Option : 3

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| know these authors to 1 outstanding individuals and remarkable teachers and
consultants and have even 2 them work their magic in training seminars, but |
didn’t know if they 3 take this complex topic and fit into a book. They did. |

4 you to really dig into this material, to pause and think deeply about each part
and how the parts are 5

SubQuestion No : 21
Select the most appropriate option to fill in blank 1.
1. be

2. been
3. had
4. is

Question ID : 264330149890
Status : Answered
Chosen Option : 1

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| know these authors to 1 outstanding individuals and remarkable teachers and
consultants and have even 2 them work their magic in training seminars, but |
didn’t know if they 3 take this complex topic and fit into a book. They did. |

4 you to really dig into this material, to pause and think deeply about each part
and how the parts are 5

SubQuestion No : 22
Select the most appropriate option to fill in blank 2.
1. seen

2. seeing
3. see

4. saw

Question ID : 264330149891
Status : Answered
Chosen Option : 1




Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| know these authors to 1 outstanding individuals and remarkable teachers and
consultants and have even 2 them work their magic in training seminars, but |
didn’t know if they 3 take this complex topic and fit into a book. They did. |

4 you to really dig into this material, to pause and think deeply about each part
and how the parts are 5

SubQuestion No : 23
Select the most appropriate option to fill in blank 3.
1. had

2. are
3. have

4. could

Question ID : 264330149892
Status : Answered
Chosen Option : 4

Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| know these authors to 1 outstanding individuals and remarkable teachers and
consultants and have even 2 them work their magic in training seminars, but |
didn’t know if they 3 take this complex topic and fit into a book. They did. |

4 you to really dig into this material, to pause and think deeply about each part
and how the parts are 5 .

SubQuestion No : 24
Select the most appropriate option to fill in blank 4.
1. contradict

2. deny
3. encourage

4. think

Question ID : 264330149893
Status : Answered
Chosen Option : 3

Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| know these authors to 1 outstanding individuals and remarkable teachers and
consultants and have even 2 them work their magic in training seminars, but |
didn’t know if they 3 take this complex topic and fit into a book. They did. |

4 you to really dig into this material, to pause and think deeply about each part
and how the parts are 5

SubQuestion No : 25
Select the most appropriate option to fill in blank 5.
1. recalled

2. sequenced
3. jumbled

4. tinkered

Question ID : 264330149894
Status : Answered
Chosen Option : 2




Section : General Intelligence

Q.1
Ans 1
2.
3.
4.
Question ID : 264330146643
Status : Answered
Chosen Option : 1
Q.2
Ans 1. Neither conclusion (I) nor (II) is true.
2.
3.
4.
Question ID : 264330151003
Status : Answered
Chosen Option : 4
Q.3
Ans 1.
2.
3.
4.

Question ID : 264330147119
Status : Answered
Chosen Option : 4




Q.4

Ans

R I A AR R

Question ID : 264330147237
Status : Answered
Chosen Option : 3

Q5

Ans 1.

Question ID : 264330147106
Status : Answered
Chosen Option : 4




Q.6

Ans 1.85-13-36
2.51-27-34
3.39-36-18
4.20-15-23
Question ID : 264330150912
Status : Answered
Chosen Option : 1
Q.7
Ans 1.
2.
3.
4.
Question ID : 264330146387
Status : Answered
Chosen Option : 1
Q.8
Ans 1.
2.
3.
4.

Question ID : 264330147037
Status : Answered
Chosen Option : 4




Q.9

Ans 1 ZAVAAZZV

2. VAANVZZNZ
3. ANZVVZIVZ
4 AVVAZZVV
Question ID : 264330150479
Status : Answered
Chosen Option : 2
Q.10
Ans  1.4:24
2.3:12
3. 2:5
4. 655
Question ID : 264330150863
Status : Answered
Chosen Option : 3
Q.11
Ans 1131
2. 171
3. 121
4,

Question ID : 264330146352
Status : Answered
Chosen Option : 1

Q.12 Bis the father of C. Cis the brother of Q. Q is the son of M’s son. M is married to T. B is the only son of T. T is the
mother of U. How is T related to Q?

Ans 1. Father
2. Mother's brother
3. Mother’'s mother

4. Father’s mother

Question ID : 264330150845
Status : Answered
Chosen Option : 4




Q.13

Ans 1.
2.
3.
4.
Question ID : 264330146734
Status : Answered
Chosen Option : 4
Q.14
Ans 1. 16
2. 10
3. 12
4. 15
Question ID : 264330146922
Status : Answered
Chosen Option : 4
Q.15
AN 1.9.5-40
2. 6-9-74
3. 2-4-10
4 7-8-56

Question ID : 264330150910
Status : Answered
Chosen Option : 2




Q.16

Ans 1.

2. 264

3.

4.

Question ID : 264330147426
Status : Answered
Chosen Option : 1

Q.17

Question ID : 264330146502
Status : Answered
Chosen Option : 1




Q.18

Ans 1.
2.
3.
4.
Question ID : 264330146872
Status : Answered
Chosen Option : 4
Q.19
Ans 1 ni
2. sj
3. ri
4.
Question ID : 264330146340
Status : Answered
Chosen Option : 1
Q.20
Ans 1. 35
2. 372
3. 34
430
Question ID : 264330147477
Status : Answered
Chosen Option : 2
Q.21
Ans 1.
2. Two
3.
4,

Question ID : 264330146876
Status : Answered
Chosen Option : 1




Q.22

Ans

Question ID : 264330146715
Status : Answered
Chosen Option : 4

Q.23

Ans

Question ID : 264330146955
Status : Answered
Chosen Option : 3

Q.24

Ans

S M~ W

Question ID : 264330147195
Status : Answered
Chosen Option : 4

Q.25

Ans

Question ID : 264330147096
Status : Answered
Chosen Option : 2




Section : Quantitative Aptitude

Q.1
Ans 1.
2.
3.
4.

Question ID : 264330148104
Status : Answered
Chosen Option : 4

Q2 IfA= % and B = % and the average of A, Band C is i, then the value of C is:

Ans 31
1, ——
728

27

2, ——
728

29

3, ——
728

49

4, — ——
728

Question ID : 264330150739
Status : Not Answered
Chosen Option : --

Q.3 Intriangle AMNO, AB is parallel NO and MA =2.5, AN = 7.5, MB = 2.2, find the value of BO.
Ans 1 6.6

2. 8.2

354

4. 4.8

Question ID : 264330150794
Status : Answered
Chosen Option : 1

Q.4

Ans 16
1. 2—

529
200

1—

529
384

N ot

529
177

4. 3—

529

Question ID : 264330146838
Status : Answered
Chosen Option : 3




Q.5

Ans 1. 35
2. 45
3. 50
440
Question ID : 264330150941
Status : Answered
Chosen Option : 4
Q.6
Ans 1.
2.
3.
4.
Question ID : 264330148191
Status : Not Answered
Chosen Option : --
Q.7
Ans 1
2.
3.
4,

Question ID : 264330148198
Status : Answered
Chosen Option : 2




Q.8

Ans 1.49:72

Question ID : 264330150790
Status : Answered
Chosen Option : 3

Q.9
Ans 1.

Question ID : 264330148248
Status : Answered
Chosen Option : 3

Q.10 Which of the following sets is such that all its elements are divisors of the number 25207

Ans 112 49 18
2. 8,9,7
5. 16,15, 14
421,10, 25

Question ID : 264330149760
Status : Answered
Chosen Option : 2




Q.11

Ans 1. 4Ro
2. @0°
3. 1K@
4. 30°
Question ID : 264330148861
Status : Answered
Chosen Option : 3
Q.12
Ans 1.
2.
3.
4.
Question ID : 264330147894
Status : Answered
Chosen Option : 4
Q.13 cos653° | cos55° .
The value of —— + —— — tanb0°cot50° is equal to:
sin25% sin35°
Ans 1. 2
2. ()
3. —1
41
Question ID : 264330148838
Status : Answered
Chosen Option : 4
Q.14
Ans 1 178.5
2. 127.5
3. 102
4. 153

Question ID : 264330146795
Status : Answered
Chosen Option : 3




Q.15

Ans 1. 35
2. 32
3. 50
4.
Question ID : 264330148239
Status : Answered
Chosen Option : 4
Q.16
Ans
1.5
2
2.1
3 -1
4.0
Question ID : 264330148212
Status : Answered
Chosen Option : 4
Q.17
Ans 1.
2.
3.
4,
Question ID : 264330148865
Status : Answered
Chosen Option : 2
Q.18
Ans 1 6,600
2. 7,500
3. 8,000
4. 5,400

Question ID : 264330151418
Status : Not Answered
Chosen Option : --




Q.19

Ans 1. 0

2. 10

Question ID : 264330146857
Status : Not Answered
Chosen Option : --

Q2 Ifa+b+c=16,ab +bc +ac = 81, what is the value of a2 + b2 + c2?

Ans 1. 94
2. 98
3. 89
4. 87
Question ID : 264330147810
Status : Answered
Chosen Option : 1
Q.21
Ans 130
2. 81
3. 15
4.9
Question ID : 264330147861
Status : Answered
Chosen Option : 4
Q.22

Ans L 13cm
2. 11 cm
3 10 cm
4 12 cm

Question ID : 264330149459
Status : Answered
Chosen Option : 1




Q.23

Ans L1:1
2.3:2
3.4:1
4.2:3
Question ID : 264330151149
Status : Answered
Chosen Option : 2
Q.24
Ans 1.
2.
3.
4,
Question ID : 264330147690
Status : Answered
Chosen Option : 3
Q.25
Ans 1. Fourth offer
2. First offer
3. Third offer
4,

Question ID : 264330149413
Status : Answered
Chosen Option : 3

Section : General Awareness




Q.1

Ans

12¢

e

Question ID : 264330145600
Status : Answered
Chosen Option : 2

Q.2

Ans

Question ID : 264330146129
Status : Answered
Chosen Option : 4

Q.3

Ans

Question ID : 264330144463
Status : Answered
Chosen Option : 4

Q.4

Ans

Question ID : 264330150231
Status : Answered
Chosen Option : 1




Q5

Ans 1.
2.
3.
4.
Question ID : 264330144693
Status : Answered
Chosen Option : 3
Q.6
Ans 1.
2.
3.
4,
Question ID : 264330145686
Status : Answered
Chosen Option : 1
Q.7
Ans 1.
2.
3.
4,
Question ID : 264330145734
Status : Answered
Chosen Option : 2
Q.8
Ans 1

2. To provide free healthcare services to the unemployed
3. To provide employment opportunities for rural women

4.

Question ID : 264330150289
Status : Answered
Chosen Option : 1




Q.9

Ans 1.
2.
3.
4.
Question ID : 264330145964
Status : Answered
Chosen Option : 4
Q.10
Ans 1.
2.
3.
4,
Question ID : 264330145783
Status : Answered
Chosen Option : 2
Q.11
Ans 1.
2. Punjab
3.
4. Haryana
Question ID : 264330155078
Status : Answered
Chosen Option : 4
Q.12
Ans 1.
2.
3.
4,

Question ID : 264330145907
Status : Answered
Chosen Option : 4




Q.13 is the income of the Government, Which arises out of the

property left by the people without a legal heir.

Ans 1.
2.
3.
4.
Question ID : 264330145684
Status : Answered
Chosen Option : 1
Q.14
Ans 1 Telangana
2. Maharashtra
3.
4.
Question ID : 264330150259
Status : Answered
Chosen Option : 3
Q.15
Ans 1.
2.
3.
4.
Question ID : 264330145624
Status : Answered
Chosen Option : 2
Q.16
Ans 1. Goa
2. Kerala
3. Assam
4. Tharkhand

Question ID : 264330148643
Status : Answered
Chosen Option : 4




Q.17

Ans L Lahore
2. Delhi
3. Amritsar
4. Bombay
Question ID : 264330152562
Status : Answered
Chosen Option : 4
Q.18
Ans 1.
2.
3.
4,
Question ID : 264330146547
Status : Answered
Chosen Option : 1
Q.19
Ans 1. Maharashtra
2. Gujarat
3. Karnataka
4. Manipur
Question ID : 264330148666
Status : Answered
Chosen Option : 2
Q.20
Ans 1. Neptune
2. Mercury
3. Jupiter
4. Venus

Question ID : 264330152523
Status : Answered
Chosen Option : 3




Q.21
Ans 1. QOdissi

2.
3. Kuchipudi
4. Sattriva

Question ID : 264330151216
Status : Answered
Chosen Option : 2

Q22 Thp Battuta, a traveller, hailed from which of the following countries?

Ans 1. Tran
2.
3. Morocco
4. Mongolia
Question ID : 264330148562
Status : Answered
Chosen Option : 3
Q.23
Ans 1.
2.
3.
4.
Question ID : 264330154817
Status : Answered
Chosen Option : 4
Q.24
Ans 1 Pyari Xaxa
2.
3.
4.

Question ID : 264330146280
Status : Answered
Chosen Option : 3




Q.25

Ans

Question ID : 264330145875
Status : Answered
Chosen Option : 4
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